MPM1D1 EQAO Preparation Questions (Linear Relations)

Open-Response

Hot New Wheels

Cybelle and Peter each buy a car. The graph below represents the value of Cybelle’s car over time.
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Peter’s car costs less than Cybelle’s. The value of both cars changes at the same rate.

Determine a possible equation to represent the relationship between the value of Peter’s car. V]

in dollars. and time, £, in years.

V =

Justify your equation.



MPM1D1 EQAO Preparation Questions (Linear Relations) Open-Response

Population Plans

Alvin is researching the population of Canada. He finds data for the year 2001 and predictions
for every 5 years after that, as shown below.
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Determine an algebraic model for Alvin’s data, and use it to make a reasonable prediction
for the population of Canada in 2036.

Justify your answer.



